0245 EFRRO=_THyh—Y—TJHEE

e 20244£3A16H
FE 20244£3A25H

050 b No.1
HEEh—F =4 1#5
:1} B =] 25 ]
F—L4L (H) 77z— (A £ Bl
17:30 |V FELRT VS IDEEFCYRZ—X |BREI7LY&SCTI—T|RARZANHAINT
1| 58268 =} KaF B | 18:40 [i&B&3FFC 0-50 VS |@Es 57 VAELRT DEHFC?RX&Z—X
19:50 |BRZ 7L 4SCT72—=| VS [KRzHhns  (iEEFFC 0-50 MmEs 77
17:30 ($=iRH A FFC VS |AKG_HERENCIA #*RFCOB BmEs 77
2 | 6A9H =] KaF B | 18:40 [i&B&SFFC 0-50 VS |ERs 7L>4SCT72—T|IRRH 4 FFC AKG_HERENCIA
19:50 |XRFCOB VS |#fES 57 i%pEFFC 0-50 #Rs 7L &SCTI—I
17:30 |YFELRXT VS |&ZRFCOB AKG_HERENCIA DEHFCvR&Z—X
3 | 7A15H | A - | KaF B | 18:40 |[KARZHSNT VS |3RiIRAAFFC VAELRT #*RFCOB
19:50 |AKG_HERENCIA VS [DEHFCYRZ—X |[RARZLVAINT |IRRHAFFC
17:30 (@52 77 VS [EFRs 7Ly 2SC7I—TDEEFCRRZ—X  [KARZNLAINT
4 | 8A12A A - | KaF B | 18:40 |i%kF&3FC 0-50 VS |IRiIRAT A FFC WMEs 77 BREs 7L 2SCTI—T
19:50 |DEHFCTR 4 —X VS [FuR=nwhns  |i&EEFFC 0-50 RIRHAFFC
17:30 (EFCOB VS |&Fs 7Ly 4SCTI—T(MEIF7 RRAAFFC
5 | 9A8H H KaF B | 18:40 |U#A LR T VS |AKG_HERENCIA #*RFCOB BEs 7Ly 2SCTI—T
19:50 |#fEY 77 VS [$=RHAAFFC VFELRT AKG_HERENCIA
17:30 |#fEs 77 VS |FRRZVAINTS VAELRT i%kBEFFC 0-50
6 | 9A29H H KaF B | 18:40 |(Rs7L>4SC73i—=| VS [DEHFCYR4—X |®fEs57 BURZLAINT
19:50 |UFELRT VS |i&p&<FFC 0-50 HRs 7L>4SC7 21— |DEEAFCYRAZ—X
17:30 [DEHFCTR4—X | VS WES 77 RARZVAYNT  (VFELRT
7 | 10H6H =} KaF B | 18:40 |ZxRFCOB VS [#RRA A FFC DEHFCTXZ—X |MEI77
19:50 [RIR=ZIHAINT VS |UFELRT Z=RFCOB RRHAAFFC
17:30 (BEs7L>r4SCT7I—-T| VS |UFELRT i&BEFFC 0-50 #*RFCOB
8 |10A19H + NFCA | 18:40 |AKG_HERENCIA VS |#fEs 77 BRI 7LY2SCTI-T|UFELLRT
19:50 |i%B&<FFC 0-50 VS |ZRFCOB AKG_HERENCIA MEs 77
17:30 |I|RIRH X FFC VS [DEHFC¥X%Z—X |AKG_HERENCIA iEBESFFC 0-50
9 [10R27H =} NFCA | 18:40 |FFR=NAHINT VS |&XRFCOB RIRHAFFC DEHFCvR&Z—X
19:50 |AKG_HERENCIA VS |i&EFFC 0-50 RRZVAh¥nNT  |ZZRFCOB
17:30 |AKG_HERENCIA VS |FRARZVAINT  |@MESTFT UFELRT
10 | 11A2H + NFC B | 18:40 |J®RiR# X FFC VS |EFs 7L >»4SC71—I|AKG_HERENCIA RIVRZNWVAV NG
19:50 (@#ES 57 VS |UFELRT RRHAFFC #Rs 7L &SCTI—
17:30 |DEHFCTR4—X VS |i&EFFC 0-50 RIRHAFFC VFEeLRT
11 |11A17H =} KaF B | 18:40 |ZxRFCOB VS |AKG_HERENCIA DEHFCvX%Z—X |i&EFFC 0-50
19:50 |RIRH X FFC VS |UFELRT Z=ERFCOB AKG_HERENCIA
17:30 |FRRZAINT VS |i&p&EFFC 0-50 B8RS 7L >»%2SC7I—3|AKG_HERENCIA
12 | 12A1H =] KaF A | 18:40 |DEHFC®Zx4%—X | VS |&XRFCOB BR=pnhon7  |EBEFFC 0-50
19:50 |(®EFEs 7L >4sC7I—=| VS |AKG_HERENCIA DEHFCvX%Z—X |=RFCOB

XAAYUBHOSHIEYTF— L




